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1. Introduction
RN’s eNB ID is same with its DeNB was agreed in last RAN3 meeting. But how to ensure uniqueness of E-CGI is still an open issue. This Tdoc analysis this issue and give a proposal for it. 
2. Discussion

ECGI‘s structure is described in figure 1 refer to chap 8.2 of [1].
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Figure 1: ECGI structure
We analysis the ECGI with assume RN deployment in figure 2.In figure 2, RN1 and RN2 will access to DeNB1, RN3 will access to DeNB2. We assume all the RNs and DeNBs can access to its O&M.
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Figure 2 RN deployment
2.1. CI (cell id) of RN
In section 2.1 we just focus on how to allocate unique CIs for RN1 and RN2 under same DeNB1.
There are two ways to allocated RN’s CI. One way is that RN is allocated of CI configuration from its O&M. The other way is that RN receive CI configuration from DeNB.
RN‘s CI configuration allocated by its O&M means that RN downloads ECGI configuration from its O&M and then deploys the configuration. The configuration downloading and deploying are independent with DeNB’s or other RN’s which inside the same DeNB. So these different Node’s O&M probably allocated totally same ECGI for different cells of Different Node. It is because that these O&M do not communicate with each other and that RN’s eNB ID is required same as DeNB’s. In order to prevent this situation, Operator must “pre-configure” unique ECGI for each of RN and set these ECGI to O&M. 
But unique ECGI of RN is hardly to “pre-configure”. First of all, RN may access to one of DeNBs from pre-configured. That is to say, RN’s O&M could never know the DeNB to RN will really access. Besides, The DeNB may process multiple RN accessing. One RN’s O&M could never know who else is accessing to that DeNB at the same time. 
If the second way be chosen to allocate CI for RN, we could handle the consistency of ECGI of RN. It is because that the DeNB can get its CIs for each macro cell and also knows available CIs not used for macro cells. When a new RN has accessed in, DeNB can then allocated the available CIs for this RN. DeNB records the CIs situation after RN’s successful response. The DeNB then assumes the CI is in using and no longer available until RN release procedure. When another RN is coming, DeNB will allocate the available CIs (including the first RN) for it till the last. In this way, RNs and DeNB can have unique ECGI without any effort from Operators.
Observation 1: CI of RN should be allocated by DeNB to which RN has accessed.
2.2. PLMN of RN
In section 2.1, we draw the observation that O&M is hardly allocates unique ECGI for RNs in the same DeNB. It is obviously that O&M also seems impossible to allocate unique ECGI for RNs in different DeNB.
So in section 2.2 we focus on how to allocate PLMNs for RNs in different DeNB. In figure 2, RN1 belong to DeNB1 and RN3 belong to DeNB2.
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Figure 3 How to allocate RN’s ECGI from different DeNB
In figure 2, we assume DeNB1 and DeNB2 share the same eNB ID but belong to different PLMNs. The assumption is captured in figure 3.
There are also two ways to allocated RN1/3’s PLMN. One way is that RN is allocated of PLMN configuration from its O&M. The other way is that RN receive PLMN configuration from DeNB.
If RN’s PLMNs are allocated by its O&M, different RN may share same PLMN id for their O&M don’t communicate with each other. In figure 3, RN1 may share the same PLMN ID with RN3’s if the PLMN IDs are allocated by each O&M. That means that RN1’s Global eNB ID is equal to RN3‘s eNB ID. As has discussed in section 2.1, CI part of RN1 and RN2 are probably same when allocated by its O&M. In this way, RN1’s ECGI may be same with RN3’s due to O&M allocation.

If the second way be chosen to allocate CI for RN, we can handle the consistency of ECGI of RN. As has discussed in section 2.1, CI part of RN1 and RN2 are probably same when allocated even by its DeNB. But if RN‘s PLMN ID is same with its DeNB’s, RN1’s Global eNB ID will certainly different with RN3’s Global eNB ID. So the uniqueness of RN’s ECGI will guarantee.
Observation 2: PLMN of RN should be same with its DeNB in which RN has accessed.
So proposal captured below draws out from above two observations is:
Proposal 1: ECGI of RN should be allocated by DeNB to which RN has accessed
3. Proposal
We kindly ask RAN3 to discuss and agree on proposal captured below.

Proposal 1: ECGI of RN should be allocated by DeNB to which RN has accessed.
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